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QUESTION 1

Given the code fragment: Which URL triggers the invocation of the getEmployee () method? 

A. /Employees/89724 

B. /Employees/J6349 

C. /Employees/id:a7280 

D. /Employees/id/J6349 

Correct Answer: B 

 

QUESTION 2

Given the set of navigation rules: 
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Which two define a valid flow of view IDs through the application? (Choose two.) 

A. home > goodbye > list-widgets 

B. dashboard > home > add-widget > list-widgets 

C. list-widgets > add-widget > home > dashboard > home 

D. home > list-widgets > add-widget > goodbye 

Correct Answer: CD 

 

QUESTION 3

Your customer is setting up serial control. The requirement is that if item A has serial 123, then they don\\'t want item B
to also have serial 123 within the same inventory organization. 
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Which serial control setting must be used to meet this requirement? 

A. Unique across Enterprise 

B. Unique within items 

C. Unique within organization 

D. Unique across organizations 

E. Unique within Item and organization 

Correct Answer: C 

 

QUESTION 4

Given: 

How often does the submitted task run? 

A. need more details to determine 

B. once 

C. as many times as you like 

D. based on a schedule 

Correct Answer: A 

 

QUESTION 5

Which two tasks must be defined to a set up the Facilities Schedule? (Choose two.) 

A. Manage Facility Workday Patterns 

B. Manage Facility Operations 

C. Manage Facility Holidays 

D. Manage Facility Time Cards 
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E. Manage Facility Shifts 

Correct Answer: AE 
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